>S>EHZ R BRTTHERRT
Linear motion ball slide units series

TBR...UU SCJ...UU

XEHS
Support

TBR16UU
TBR20UU
TBR25UU
TBR30UU

TBR16LUU
TBR20LUU
TBR25LUU
TBR30LUU

AR S
Bearings

number
SCJ8 UU
SCJ10UU
SCJ12UU
SCJ13UU
SCJ16UU
SCJ20UU
SCJ25UU
SCJ30UU
SCJ35UU
SCJ40UU
SCJs50UU

B 7% R ~F

Shaft

b16
$20
b 25
$30

b16
$20
$25
$30

NS
Inside
LM 8 UUAJ
LMI10UUAJ
LMI2UUAJ
LMI13UUAJ
LMI6UUAJ
LM20UUAJ
LM25UUAJ
LM30UUAJ
LM35UUAJ
LM40UUAJ
LMS0UUAJ

BERGAfE
Basic load rating

)| i
Designation | Dimensions |dynamic| static
CN CoN

392
784
1568
1764

780
1568
3136
3528

370
410
500
770
860
980
1560
1660
2150
3820

490
1176
2352
2940

980
2352
4704
5880

B ZE 3 1
Load rating| #%&

Co (N)

431

784 b 10
540 $10
590 12
770 $13
1170 &16
1370 $20
1560  $25
2740 $30
3130 35
4010  $40

7930 50

62
68
82
9il

62
68
82
91

13
15
15
19
2l
26
30
34
40
52

31
41
48

26
31
41
48

10 51 M6 54 37 34 21
12 65 M8 65 50 41 28
1275 M8 7 60 45.5 33.5
8 85 M5 50 60 31 18
10 96 M6 54 70 34 21
12 130 M8 65 100 41 28
12 140 M8 75 110 45.5 33.5

20
21
22
25
27
38
39
45
51
61

40
42
44
50
54
76
78
90

102

122

26
28
30
38.5
41
51.5
59.5
68
78
102

21
24

24.5

32.5
35
41
49
54
62
30

8
7.4
8
9
11
12
15
18
20
24

28

6

Designation

LM16UU-OP
LM20UU-OP
LM25UU-OP
LM30UU-OP

LM16UU-OPX2 392

LM20UU-OPX2 784

LM25UU-OPX2 1568

LM30UU-OPX2 1764

M4 X8
M5X12

30.5 5.75 M5X12

33
36
40
54
58
70
80
100

S
7
7
11
10
10
11
11

M5X12
MS5X12
MS5X12
M8X18
M8X18
M8X18
MI10X25
M10X25

21
26
26
34
40
50
58
60
60
80

35
36
39
44
50
67
72
80
90
110

490
1176
2352
2940

490
1176
2352
2940

M4
M4
M4
M4
M5
M6
M6
M6
M8
MS

o
11 17 34 22 18 6 24 5 18 30 M4

90
112
123
189
2357
555
685
1100
1600
3350

E+0.05
s |

h-+o0.02

>>HE BB TZIERT

Linear motion ball slide units series

SH...A SHF..

R ~fDimensions (mm)

HERE | REBR .
Locking | Clamping | Weight

Isﬁiﬂ% R R ~F

oesimuion Deminions BB W PGP B S i
SH8A 8 20 21 42 32.8 6 18 32 5.5 M4
SHI0A 10 20 2 42 8288 6 18 32 5.5 M4
SHI2A 12 23 21 42 38 6 20 32 5.5 M4
SH13A 113 23 21l 42 38 6 20 32 53 M4
SHI6A 16 27 24 48 44 8 25 38 5.5 M4
SH20A 20 3l 30 60 51 10 30 45 6.6 M5
SH25A 25 35 35 70 60 12 38 56 6.6 M6
SH30A 30 42 42 84 70 12 44 64 9 Mo
SH35A 35 50 49 98 85 15 50 74 11 M8
SH40A 40 60 57 114 96 15 60 90 11 M8
SHS0A 50 70 63 126 120 18 74 100 14 Ml
SH60A 60 80 74 148 136 18 90 120 14 Ml

OHIREEMBEEHIM, RITE S, BUMMEAEESERERL KELH

®The bearing seat is made of aluminium alloy,design second play, assemble the straigh

t line axle through promoting the trough and bolted joint in axial

®SHFR T X ES

Bﬂ”?*’.i“% NERETE
earings Shaft
number diametre

SHF40 40 102 40 16
SHF50 50 122 50 119
SHF60 60 140 60 23

56 80
70 96
82 112

£
Locking bolt

Kigie

M10
Ml12
Ml12

t

M5
M5
M5
M5
M35
Mé6
M6
M8
M10
MI10
2 M12
2 Ml12

24
24
30
30
40
70
130
180
270
420
750
1100

REIZNE

Clampin
bolt -

M10
M12
M12

E3
Weight
(2)

510
890
1500



